© Emond Montgomery Publications Limited

Math for Everyday Life, Grade 11

MEL3E

	Week 8
	Assignment
	Risk Tolerance



You will use this questionnaire to help you do problems on the next page

	1.
Time Constraints


a)
How long are you willing to wait to reach your financial goals? 

	20+ years 

5-20 years 

1-5 years or less 


b)
What is your age?

60+

40-59

16-39
	1

2

3

1

2

3

	2.
Investment Risk Attitude


a)
What are your expected investment returns?

I prefer a conservative investment strategy designed to grow steadily even if it lowers the long-term results.

Short-term losses are acceptable if I have confidence that the long-term 
returns will be moderately good.

Earning the highest possible return is a priority, even if it means taking risks to do so.


b)
Do you have enough money to reach your goal?

I now have enough money to reach my goal, so I want to protect what I have.

I should have enough money to reach my goal, I can afford to take some risk.

I believe I will not have enough money to reach my goal, therefore I must take risks to get ahead.
	1

2

3

1

2

3

	3.
Investment Objective Attitude


a)
What is your primary investment goal?

Short-term protection of your investments for the next 1-5 years.

Stable investment growth for the next 5-20 years.

Long-term growth of your investment for more than 20 years


b)
How does your investment affect your total net worth? 

I have other substantial assets, such as pension, personal savings account or inheritance, that make up a large portion of my net worth.

I have some moderate assets that are my total net worth.

I have few or no other assets.
	1

2

3

1

2

3

	A total of 1-6 indicates a conservative investor.

A total of 7-12 indicates a moderate investor.

A total of 13-18 indicates an aggressive investor.
	


Table from MEL3E Ontario Course Profile
A Conservative investor is very safe with his or her money.

A Moderate investor balances safety, and the desire to make lots more money.

An Aggressive investor wants to make a lot of money, probably quickly, and will take risks.

CASE STUDY ONE

Marcy Johnston is a 35-year old mother. Her income is the only one for the family. She has one child who lives with her. Marcy wants to retire at 60 years of age and is planning for her retirement income now. While she is willing to lose some money in the short-term, she makes it clear that she wants her investments to grow enough to let her retire comfortably. At this time she does not have a lot of money in her savings account at the bank and does not own many things of any value. Marcy dreams of some day buying a home of her own.

Use the questionnaire to calculate Marcy’s points in each area:

Time Constraints                    

/6

Investment Risk Attitude        

/6

Investment Objective Attitude     

/6

Total





/18

Type of investor _________________________

CASE STUDY TWO

Tony Sanchez has four grown children who live on their own and support themselves. He is 62 years old. His wife is 65 and earns a small pension. Tony owns his house, owns his car, and has built up his savings account over the years. For the last 30 years he has carefully budgeted to have money to invest each month, and does not want to lose any money on investments. He plans to retire in three years and needs the security of his investments.

Use the questionnaire to calculate Tony’s points in each area:

Time Constraints                    

/6

Investment Risk Attitude        

/6

Investment Objective Attitude     

/6

Total





/18

Type of investor _________________________

Who is able to take the most risks with their investments?  Marcy or Tony?  Explain.

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________







number of points for each answer








